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Motivation and scope
Model-driven engineering

OffOff IdleIdle

Preparing CoffeePreparing Coffee Preparing TeaPreparing Tea

turnOn

turnOff

prepareCoffee

coffeeComplete

prepareTea

teaComplete

turnOn()

coffeeComplete()
prepareCoffee()

teaComplete()
prepareTea()

u:U cm:CM

*
*

User

CoffeeMachine

turnOn() : void
prepareCoffee(strength : Int) : Coffee
prepareTea() : Tea
turnOff() : void

Software verification, testingModel verification?

Idea
Find errors on model level
Then work only on consistent models
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Motivation and scope
Model evolution

Evolution is multi-view, multidimensional

May introduce inconsistencies

Different evolution tasks may introduce different types of inconsistencies

Idea
Establish a classification of changes in models and find which
inconsistencies they may cause
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Motivation and scope

We consider a multi-view subset of UML relevant for MDE:
State machines
Sequence diagrams
Class diagrams

Many complex constructs are omitted, but will be gradually added.
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Many syntactically correct merges possible.
But how to avoid inconsistency with state machine?
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Expected Contributions

Survey on model evolution
Taxonomy of change and inconsistencies
Verification methods
Integration into a formal framework to assist MDE
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